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ICALcuLO MENTALJ

| P_Escribir en forma de potencia

| R_Escribir en forma de raiz

| E_ Extraer factores de la raiz

A B C D E F
1 Jx P 9x° E {/x? gxé R Ux® x% R
2 ad  |E| e |P 8/x8 Jxe | P X% JxE E
3] s Rl s IR o |R| ABex x| P
4 Ux? P Ux’ E X7 25x3 E Neg x* E
5 X’ E Ux® P 16x° Ux° P 4x% 3/x? P
. 5x% R 7X% R U’ VX E Vx* ZX% R
7 AxH E]  {/x? E 3X% x% RI - {/x° Jx*|E
8 x* P x° P A VUx® E §/x° X5 R
9 o Rl & |R| ¥ax Ux [Pl x| P
10, Ux’ E Ux? P x% xt (B Y x’y | E
L Ux P x% R Ux* Ux° P x% V2x* E
12 7 R Ux® E Ux® x4 RI 3% ¢ |E
13 3/2x Pl Jarx |E Jox 5x P {/2x Ix® P
14 x%y? E A/5x P X§ 2x° E xy? x6 R
15 4/x P (3X)§ R x%y® Ux P (3)()% 2/xe P
16 (2x)% R x’y® | E ix® (5X)§ RI  §/x? (2x)é R
17|  8x El 4 P (4X)§ x2y |E| §/3x V3x P
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Raices 2 (SOLUCIONES)

SOL A B C D E
1 X2 352 \/; 26 = 313 9 % « %/72 43
2 ox \/; 312 X % X512 \/? W2 x
3 32 2 x 9.2 6 3x24/x X"
4 x24 = 12 X 9& (/xiz 5x \/; 3 X %
5 « 5 x2 X514 = 4312 Ix \/; 36 = 3112 4 (\3& X218 = 514
6 5 \/; 7 ;’/; X5 X 4\1& X6 = (213 2 z&
7 X2 X2 34x It X2 NG
8 x5 NCE X2 X2 5/6 ?/x?
9 6 X5 4\1/)(75 (4X)1/3 Xl/G 5 X4 X7/6
10 X N %/? X X3 X \/)Ty
11 X3 \/; X3 X513 % N 3\,/;
12 Tx X X Ix X X
13 (ZX)I/S 3 \/37 3 \/; (5X)1/2 (ZX)I/G X8/3
14 xy v/x (5" ¥ x~/2x yx ox
15 Xl/4 \/& Xy Xy X1/5 7 3X X3/5
16 3 2% Xy \/y X5/4 §/57 X2/5 §2x
17 2+/2x x* 4ax XAy x ¥/3x (3x)"7






